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Ans8 = Cos(6)+Cot(9)=—T, , —(
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TrigonometryExercise3 Answers for No.10688
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Ans4:{]:[Quadrant:Q3],.2={Sin(9)=—@H’ [_()}
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2

Ans5=[sm(e) - Sec(e):_Tl [_()}

Anséz{Csc(B) + Cot(9) :?

1794/ 119 } iﬁ}

Ans7:[Sec(9)—Cot(e):_ <05 y

X [Page = 0019] XXXXXXXXXXXXXXXXXXXXXKKKKXXXXKXKXKXKKKXKXKXKXKXXXKXKXKXKXKXKXKXKXKXKXXXXKXKXKKXX




X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXME/1-6400303-00020XX
TrigonometryExercise3 Answers for No.10900
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[ T
1—(90°——j .6:[16800_ J
2—( 300)° S—th 7—( 2370)° 79“]
—(-)——3 T=(- )——6
o T o 63 1
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X [Page = 0021] XXXXXXXXXXXXXXXXXKXXXXXXXXXXXXXXXXXXKXXXXKXKX XX KKK XX XXKXXKXKXKX

<[5
| |

Ans7:[Sin(9) + Cos(0) =

Ansgz{cm(e) — Sin(0) = -



X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXKKXXXKXXXKXXKXKKKXKMS/1-6400303-00022XX

TrigonometryExercise3 Answers for No.12097
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=2 [L
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TrigonometryExercise3 Answers for No.12256
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TrigonometryExercise3 Answers for No.12482
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